Set-02 1 Biology PGT (LDCE) 1 to 120
1.  Which of the following animal is not aquatic ?
(A) Balaenoptera
(B) Pteropus
(C) Chelone
(D) Chameleon
Select the correct option from the following :
(1) (A) and (B) of the above
(2) (B) and (C) of the above
(3) (C) and (D) of the above
(4) (B) and (D) of the above
2. Which of the following statement is not correct for maintaining good health ?
(1) Balanced diet
(2) Personal hygiene
(38) Regular exercise
(4) Improper disposal of wastes
3.  Match the diseases given in Column - I with thei@ of transmission given in
Column - II.
Column - I Colum 0
(a) Typhoid fever (i) inhale rQg)ﬂs released by an infected person
(b) Pneumonia (id) tr@t‘the parasite from faeces of infected food
() Common cold . (i@ugh food and water
(d) Dysentery droplets from sneezes or transmitted through
K contaminated objects like pens etc.
Select the correct option :x
(1) (a)-(i), (b)-(i), ( -g>
(2)  (a)-(iii), (b)-( )-(ii)
(3 @-(v), (b)-(i), Q- (i), (d)-()
@) @) O-v), (©-(i), (-G
4.  Why malaria is spread by female Anopheles mosquito ?
(1) There are large numbers of female Anopheles mosquitoes
(2) There are small numbers of male Anopheles mosquitoes
(3) The female Anopheles mosquito feeds on human blood
(4) The male Anopheles mosquito feeds on human blood
5.  What kind of reproduction does the sporozoite of Plasmodium undergo in the human
host ?
(1) Sexual followed by asexual reproduction
(2) Asexual followed by sexual reproduction
(3) Sexual reproduction
(4) Asexual reproduction
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6.

10.

11.

Which one of the following disease is not transmitted through insect vectors ?
(1) Malaria

(2) Filaria
(3) Chikungunya
(4) Ascariasis

Which one of the following is not a method to control the vectors of diseases and their
breeding places ?

(1) Regular cleaning of water coolers

(2)  Use of mosquito nets
(3) Spraying insecticide in ditches, drainage areas and swamps
(4) Keeping doors and windows wide open at all times of day and night

Trace the route of the sperm from where it is produced to its release outside the body :
(1) Seminiferous tubules — rete testis — vas efferens — epididymis — vas deferens —

testicular lobules — urethra

(2) Testicular lobules — seminiferous tubules — rete tes vas efferens — epididymis

— vas deferens — urethra

(3) Vas efferens — rete testis — seminiferous vas deferens — epididymis —

testicular lobules — urethra
(4) Rete testis — vas efferens — epidic@ &> vas deferens — testicular lobules —
seminiferous tubules — urethra

L

At which stage of cell division N development of primary oocyte get temporarily
arrested in case of oogenesis 2

(1) Prophase - I of meio&
(2) Prophase of mito

(3) Metaphase of

(4) ProphaselIl o osis

In which of the following stage early embryos are transferred into the fallopian tube ?

(1) More than 8 blastomeres
(2) Upto 8 blastomeres

(3) More than 16 blastomeres
(4) Upto 4 blastomeres

Select an incorrect option to suggest the need for medical termination of pregnancy :

(1) to check indiscriminate and illegal female foeticides

(2) use amniocentesis to determine the sex of the unborn child

(3) continuation of the pregnancy could be fatal either to mother or to the foetus or both
(4) to get rid of unwanted pregnancies
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12.

13.

14.

15.

16.

17.

During embryonic development, which one of the following form Stem cells having the
potency to give rise to all the tissues and organs :

(1) chorionic villi
(2) placenta

(3) inner cell mass
(4) umbilical cord

Which one of the following is not a correct function of the placenta ?
(1) It facilitates the supply of oxygen and nutrients

(2) It helps in removal of CO, and excretory wastes
(3) It produces the hormone-relaxin
(4) It helps in the transport of various substances to and from embryo

The construction of the first recombinant DNA emerged from the possibility of linking a
gene with a native plasmid encoding which one of the following characteristics :

(1) Food requirement
2)  Antibiotic resistance

(2)
(3) Temperature tolerance
(4) Drought resistance O
Which one of the following is the first restrictio@onuclease ?
(1) Hind III *
2) BAMHI @

(2)
(3) HindII o @
(4) EcoRI

What is the source of a t@le DNA used to amplify DNA in Polymerase Chain
Reaction ?

(1)  Escherichia coli %

(2)  Salmonella ty@ri

(8)  Thermus aquatic

(4) Agrobacterium tumifaciens

Assertion : Bioreactors help to harbour cloned genes of interest to extract the desired
protein.
Reason : Bioreactors are like large vessels in which raw materials are biologically

converted into specific products with all necessary conditions.
Select the correct answer from the following option :
(1) Assertion is true and reason is the correct explanation for Assertion
(2) Assertion is true but reason is not the correct explanation for Assertion
(3) Assertion is true but reason is false
(4) Assertion and reason are false
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18.

19.

20.

21.

22.

23.

24.

Insulin is an example of which one of the following four levels of protein organisation ?
(1) Primary

(2) Secondary

(38) Tertiary

(4) Quaternary

Non-polar molecules such as fats do not dissolve in water because :
(1) They form hydrogen bonds with water molecules

(2) They dissolve in water with steroids

(3) They do not join the lattice structure of water

(4) They have long hydrocarbon chains which are polar

The cell cycle comprises :

(1) Interphase and Prophase

(2) Prophase and Metaphase

(3) Metaphase and Anaphase
(

4) Interphase and Mitosis &
Which one of the following is not a prokaryotic Ch@ istic ?

(1) Presence of peptidoglycan in the cell wall ()
2) Presence of mesosomes

(2)
(3) Membrane bound, well defined nuc% ¢
(4) tr

4)  Presence of ribosomes in Cyto®
.

Golgi Apparatus :
(1) has a smooth and a ro face
2) has a forming and ng face

)

many folds called cristae

X

OS1S

(
(3) can perform pha
(4) has membra

Select the correct statement about the role of mineral elements in a cell for enzyme action
from the following.

(1) Manganese is necessary for synthesis of oligosaccharides and glycoproteins

(2) Iron is essential for large number of enzymes, particularly those utilising ATP

(3) Magnesium occurs in cytochrome oxidase

(4) Copper is necessary for fixation of nitrogen catalysed by the enzyme nitrogenase

Agar, used for preparing solid culture media is a natural component obtained from :
(1) Seaweeds

(2) Tannins and resins

(3) Animal fat

(4) Fungi
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25.

26.

27.

28.

29.

30.

Which of the following statement is incorrect about the features of a lock and key
model ?

(1) provides a degree of specificity

(2) provides functional diversity

(38) can react only with molecules that complement it
(4) every reaction requires the same enzyme

Which one of the following is known as energy molecule of the cell ?

(1) ATP

(2) Glucose

(3) Protein

(4) Fat

Assertion : Meiosis causes genetic variation within the species.

Reason Genetic consequences occur due to pairing, crossing over and

recombination, and segregation of homologous chromosomes.
Select the correct option :
(1) Assertion is true and the reason is the correct ex ation of Assertion
(2) Assertion is true but the reason is not the cor, planation of Assertion
(3) Assertion is true but reason is false 6
(4) Assertion is false but reason is true ()

*
about ecological niche of an organism ?

(1) It represents functional statys

(2)  One niche is occupied by a gt
(3)  Each ecological niche is &'
(4)

pecies in environment
species
om competition

It represents trophicdypo of a species

(1) Pyramid of n r in forest ecosystem

Which of the follow'QS ical pyramid is never inverted ?

(2) Pyramid of biomdss in pond ecosystem
(3) Pyramid of energy in parasitic food chain
(4) Pyramid of biomass in parasitic food chain

Which one of the following is a correct matching pair of certain organism(s) and the kind
of association ?

(1) Shark and sucker fish - Ammensalism
(2) Algae and fungi in lichens - Mutualism

(38) Orchids growing on trees - Parasitism

(4) Cuscuta (dodder) growing in other flowering plants - Epiphytism
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31. Key stone species deserve protection measures because these :
(1) Are capable of surviving in harsh environmental conditions
(2) Indicate presence of certain minerals in the soil
(3) Have become rare due to over exploitation
(4) Play an important role in supporting other species

32. A biologist studied the population of rats in a barn. He found that average natality was
250, average mortality 240, immigration 20 and emigration 30. The net increase in
population is :

(1) 15
(2) 05
(3) Zero
4) 10

33. If we analyse the species-area relationship among very large areas like the entire continents,
then slope of line becomes much steeper in the range of :

(1) 0.1 to 0.6

2) 01 to02 @
(3) 06to 12

@4 02to 0.6 0

O

34. Find the odd one with respect to parasitismuy,
(1)  Cuscuta 1@
(2) Female Anopheles
.
(3)  Plasmodium
@ N

4

Liver Fluke &
35. The feature of the xero t1 th leaves are :
(i) Leathery surfage
)

( Large surfacé
(iii) Waxy cuticle
(iv) Sunken stomata on upper epidermis

(1) (i), (i) and (iv)
(2) (i) and (i)
(3) (@), (iii) and (iv)
(4) (i) and (iv)
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Select the correct match :

36.

37.

38.

39.

Sedimentary nutrient cycle
Pioneer species

Secondary succession
Pyramid of biomass in sea

7 Biology PGT (LDCE) 1 to 120

- Nitrogen cycle
- Lichen

- Burned forests
- Upright

Which one of the following pairs is mismatched ?

(1)

Tundra -
Savannah -
Prairie -

Coniferous forest -

Permafrost
Acacia trees
Epiphytes
Evergreen trees

Given below is one of the types of ecological pyramids@

This type presents

(1)

Pyramid of numbers in a grassland

Pyramid of biomass in a grassland

Pyramid of numbers in forest (tree) ecosystem

Pyramid of energy in a pond

The open ocean and tropical rainforest are two largest contributors to net primary
productivity because :

(1)

both have high rates of net primary productivity

both cover large surface areas on earth

nutrients cycle is fastest in these two ecosystems

the ocean covers a large surface area and the tropical rainforest has a high rate of

productivity
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40.

41.

42.

43.

44.

Match the columns and select the correct option from the codes given below :

(@) TV +ERV (i)  Expiratory capacity

(b) RV+ERV+TV+IRV (i) Total lung capacity

(c) ERV +RV (iii) Functional residual capacity
Select the correct option :

1) (@)-G), (b)), (o))

) (@), (b)-6), (©)-(i)

(3) (@), (b)-Gid), (©)-6)

(4) @), (b)-(id), (©)-6)

Which of the following statements are incorrect ?

(i) Monocytes are non-motile and phagocytic in nature

(i) RBCs, WBCs and blood platelets are produced in bone marrow

(iii) Basophils possess small spherical lobe called Barr body attached to their nucleus
(iv) Important function of lymphocytes is to produce antibodies

(1) (i) and (i)

(2) (i) and (iv) @
(3) (i) and (i)

(4) (i) and (i) ()C)

S
First heart sound is : @

(1) ‘lubb’ due to closure of AV val
2)  ‘lubb’ due to closure of sp

(2)
(3) ‘dupp’due to closure of A
(4) .

.

ir e

L
4) ‘dupp’ due to closuv& al valves
Originating in bone u circulating in blood for 1-2 days, migrating to connective
tissue and forrnino hages is a characteristic of :

(1) Eosinophils
(2) Basophils

(3) Monocytes
(4) Lymphocytes

Which one of the following is correct for a normal human ?

(1) pH of urine is more than 8

(2) On an average, 25-30 mg of urea is excreted via urine

(3) Presence of ketone bodies in urine is an indicator of diabetes mellitus
(4) Glycosuria can be treated with haemodialysis
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45. Put the following parts of a reflex arc in the correct order beginning with the sensory
receptor :

(a) Motor neuron
(b) Interneuron

(c)  Effector

(d) Sensory neuron
(e) Sensory receptor

1) (@), (d) (b) (a) ()
(2) (), (d) (@) (b) ()
() (@) (b), (c) (d), (e)
4) (@) (e) (d), (b) (9

46. Hypothalamus of the brain is not involved in this function :
(1) Sleep-wake cycle
2)  Osmoregulation and thirst

(
(3) Temperature control
(4) Accuracy of muscular movement

47. Match the following and choose the correct optibn the codes given below.
a) Addison’s disease (i)  Pituitary
. ®

(

(b) Tetany (if) Tl@l

() Acromegaly (iid enal cortex
(d) Myxoedema ‘K rathyroid
(

(

(

(

(a)-(iii), (b)-(ii), (0)-(), (d)-(tQ

48. Which hormones are Sgcreted by Brunner’s glands ?
(1) Kinase, estrogen
(2)  Secretin, cholecystokinin
(3) Prolactin, parathormone
(4) Estradiol, progestrone

49. Which one of the following pairs of chemical substances is correctly categorized ?

(1) Calcitonin and thymosin - Thyroid hormones

(2) Pepsin and Prolactin - Two digestive enzymes secreted in stomach
(3) Troponin and myosin - Complex proteins in striated muscles

(4) Secretin and rhodopsin - Polypeptide hormones
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50.

51.

52.

53.

54.

55.

Gout is a disease that affects the joints and leads to arthritis. It is associated with an
abnormality of :

(1) pyrimidine metabolism

(2) purine metabolism

(3) fat metabolism

(4) protein metabolism

Match the following and choose the correct option :

Types of synovial joints Bones involved
(a) Ball and Socket (i) Carpal and metacarpal of thumb of hand
(b) Hinge (i) Atlas and axis
(c) Pivot (iii) Frontal and Parietal
(d) Saddle (iv) Knee

(v) Humerus and pectoral girdle

1) @-(v), (b)-(v), ()-(i), (d)-()
2)  @-(1), (b)-(iii), (c)-(iv), (d)-(v)
(3 @-(v), (b)-(), ()-(itd), (d)-() @
) (@-@) (b)-(), ()-(v), (d)-(v) 0
A healthy person eats diet of 5 gm raw sugar, albumin, 10 gm pure buffalo ghee

adulterated with 2 gm vegetable ghee (hydgegenated vegetable oil) and 5 gm lignin. How
many calories he is likely to get ? @

1) 126 @
2) 164 ‘\
E3) 112 K

4) 144

Biosphere reserves di @n\ National Parks and Wildlife Sanctuaries because in the
former : <( ?

(1) human beings afg not allowed to enter

(2) humans are integral part of the system
(3) plants are paid greater attention than the animals
(4) living organisms are brought from all over the world and preserved for prosperity

Select the correct pair :

(1) Radial symmetry - Coelentrates
(2) Coelomates - Aschelminthes
(3) Metamerism - Molluscs

(4) Triploblastic - Sponges

Stilt roots are found in :
(1) Maize

(2) Tomato

(3) Banyan tree

(4) Mustard
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56.

57.

58.

59.

60.
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Which one of the following groups of animals is correctly matched with its characteristic
feature without any exception ?

(1)

Reptilia : possess 3-chambered heart with an incompletely divided
ventricle

Chordata : possess a mouth with an upper and lower jaw

Chondrichthyes : possess cartilagenous endoskeleton

Mammalia : give birth to young ones

Match the following and choose the correct option :

Which of these statements are incorrect ?

()
(i

Adventitious root (i) Seed coat
Thorns (i) Monstera
Leaf base (iii) Bougainvillea
Aleurone layer (iv) Pulvinus

a)~(ii), (b)-(1), (c)-(iv), (d)-(iii)
)-(i), (b)-(iii), (c)-(iv), (d)-(1)
a)-(iii), (b)-(1), ()-(ii), (d)-(iv)
)-(iv), (b)-(ii), (c)-(ii), (d)-(3)

a_

a_

(
(
(
< <

O

Parapodia are lateral appendages in arthr@s used for swimming
Radula in molluscs are involved i 1n

Aschelminthes are dioecius

Echinoderm adults show bit mmetry
Ctenophorans are diplobl tl&

(i) and (ii) Q
(i) and (iii) g\

(i), (iv) and ( 'Q
(i)

iii) and (iv

Which of the following is not the function of parenchyma tissue is :

(1)

Photosynthesis
Storage
Secretion

Water transport

Which one of the following has least similar characters ?

(1)

Family
Class
Genus
Species
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61.

62.

63.

64.

65.

66.

67.

Which type of tissue does not contain protoplast ?
(1) Collenchyma

(2) Parenchyma

(38) Sclerenchyma

(4) Chlorenchyma

Which of the following is not in a correct hierarchial order ?
(1) Class, Family, Genus, Species

(2) Phylum, Order, Family, Genus

(38) Class, Order, Family, Genus

(4) Phylum, Family, Order, Species

In which family the body of the plant is made up of holdfast, stipe, and frond ?

(1) Phaeophyceae

(2) Rhodophyceae

(3) Chlorophyceae

(4) Xanthophyceae

Mannitol and laminarin are the stored food found i @
(1) Rhodophyceae ]0

(2) Phaeophyceae 0

(3) Chlorophyceae @ ¢

(4) Xanthophyceae

.
Inconspicuous, small, multicellu(x -living, thalloid gametophyte is called :
(1) Thalli
(2) Sporophyte \Q
(3) Prothallus g
(4) Antherozoid

Embryo-sac contains :

(1) 1 egg cell, 2 synergids, 3 antipodals, 2 polar nuclei

(2) 2 egg cells, 2 synergids, 2 antipodals, 2 polar nuclei
(3) 1 egg cell, 1 synergid, 2 antipodals, 1 polar nucleus
(4) 3 egg cells, 2 synergids, 3 antipodals, 2 polar nuclei

Name the scientist, who established Binomial nomenclature :
(1) Carl Linnaeus

(2)  Julian Huxley

(3) Aristotle

(4) H.G. Khorana
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68. Opening of Stomata occurs due to :
(1) Turgidity of guard cells
(2) Size of guard cells
(3)  Number of guard cells
(4) Amount of CO, in the atmosphere

69. Swelling in wooden doors during rainy season is due to :
(1) Endosmosis
(2) Capillarity
(3) Absorption
(4) Imbibition

70. Respiratory quotient is calculated as ratio of :
(1)  Oy/CO;,

(2) CO,/O,
(3)  O/Hy0
(

71. The primary location for dark reaction of photosyn@ is :
(1) Stroma 0
2) Grana

(
(3) Intergrana
(

*
4) Protoplasm @
72. The phenomenon of attraction oﬁx to tracheary elements is because of :
(1) Cohesion
(2) Connation \Q
(3) Adhesion Q
(4) Adnation Q

73. A useful resource for learning about translocation is :

(1) Aphid

(2) Wood-boring beetles
(3) Porcupines

(4) Leaf miners

74. The element that aids in the movement of electrons during photosynthesis :
(1) Zinc
(2) Molybdenum
(3) Boron
(4) Manganese
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75. The process involved in the formation of “Toddy” is :
(1) Guttation
(2) Bleeding
(3) Transpiration
(4) Imbibition

76. The bioassay used to study the presence of auxin :
(1) Tobacco pith culture
(2) Avena curvature test
(3)  Chlorophyll preservation test
(4) Dwarf Pea elongation test

77. If the osmotic potential of any osmotic system is 38 atm and its turgor pressure is 9 units.
Find out its water potential :

(1) —43 unit

(2) 29 unit

(B)  —29 unit

(4) —2.85 unit @
78. A typical angiosperm anther is : 0

(1) Dithecous, trilobed 0

(2) Dithecous, tetralobed .

(3) Dithecous, bilobed @

(4) Trithecous, trilobed . @

79. The terminology used for fus &1 :

(1) Syncarpous

(2) Apocarpous \
(3) Multicarpella
(

4) Hilum

80. Plants like Vallisneria and corn are pollinated by :
(1) Wind and water respectively
(2) Water and wind respectively
(3) Insect and water respectively
(4) Wind and insect respectively

81. Among animals the dominating pollinating agents are :
(1) Gecko lizard
(2) Cattle
(3) Bee
(4) Birds
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82.

83.

84.

85.

86.

87.

88.

The protective envelope of the ovule is called :
(1) Hilum

(2) Chalaza

(3) Micropyle

(4) Integument

Which among the following technique is utilized for separating fragments of DNA ?
(1) Southern Blotting

(2) Agarose Gel Electrophoresis

(3) Transformation

(4) Western Blotting

Polymerase Chain Reaction (PCR) technique was invented by :
(1) Maxam and Gilbert

(2) Guha and Maheshwari

(3) Watson and Crick

(4) Karry Mullis

To link plasmid vector with antibiotic resistance g ich of the following enzyme is
used ?

(1) DNA Polymerase I ()

(2) Ribozyme .

(3) DNA Ligase @

(

4) Linkers ° @

Transgenic Plants have : K
(1) Absence of a gene xg
2)  Genes present in @ iflg region

Choose the correct characteristic of Bt cotton :

(1) They are resistant to aphids

(2) They are resistant to ball worms

(3) They produce toxic gut proteins crystals which kills dipteran pests
(4) They are resistant to beetles

In which national park the introduction of Cheetah in India is being done under Project
Cheetah ?

(1) Jim Corbett National Park
(2) Kuno National Park

(3) Chandoli National Park
(4) Gir Forest National Park
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89.

90.

91.

92.

93.

94.

95.

The “Evil Quartet” is the sobriquet used to describe :
(1) Different approaches to conserve biodiversity
(2) Major causes to biodiversity loss

(3) Reason for biodiversity conservation

(4) Species distribution in specific area

Species-Area richness curve is :
(1) Logarithmic

(2) Parabola

(3) Hyperbola

(4) Quadratic

Biodiversity term is coined by :
(1) Edward Wilson

(2) Robert May

(3)  Ernst Haeckel

(

4) David Tilman @
Which of the following is not an invasive species ? O

(1) Nile Perch

(2) Water Hyacinth 0
(3) Steller’s sea cow

(4) African catfish

Which of the following stateme \) correct with respect to biodiversity hotspot ?

(1) Possess high level of s Chness and high degree of endomism
(2) Hotspots are the re ccelerated habitat loss
(3) All biodiversity ts when put together cover less than 4 percent of earth’s land

area
(4) Western Gha@o-Burma, Sri Lanka and Himalaya are hotspot regions in India

Identify the correct sequence of steps in the process of Polymerase Chain Reaction (PCR)
from the options given below.

(1) Denaturation of DNA — Annealing of Primers — Chain elongation of primers
(2) Annealing of Primers — Denaturation of DNA — Chain elongation of primers
(3) Annealing of primers — Chain elongation of primers — Denaturation of DNA
(4) Denaturation of DNA — Chain elongation of primers — Annealing of primers

Which of the following syndrome in human being is X-chromosome linked ?
(1) Patau syndrome

(2) Klinefelter syndrome
(3) Edward syndrome
(4) Down syndrome
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96.

97.

98.

99.

100.

101.

In case of a sex linked character the X-chromosome linked recessive character is expected
to be observed or expressed in which of the following condition ?

(1) When the X-chromosome bearing the character is there in a male offspring

(2)  When the said X-chromosome is there in a female offspring with other X-chromosome
with normal dominant allete

(8)  The recessive trait in question will never be expressed
(4) The said character or trait will only be expressed among male offspring

Which of the following property of RNA makes it a different molecule than DNA from
the point of view of the hypothesis of RNA being the initial genetic material ?

(1) Presence of Uracil base in it

(2) It can catalyse reactions in the molecules

(3) It has nucleotide sequence representing codes for amino acids
(4) It has ribose sugar

In the DNA molecule nitrogenous bases are attached in each nucleotide at which position
of the sugar molecule ?

(1) 1%t carbon atom of the deoxy ribose sugar
(2) 3™ carbon atom of the deoxy ribose sugar
(3) 4t carbon atom of the deoxy ribose sugar O

(4) 5t carbon atom of the deoxy ribose sugar()

€3]

*
Which of the following enzyme has no role @ process of base excision repair mechanism
of DNA repair ?

(1)  Uracil glycosylase .

(2) DNA ligase K\
(3) AP endonuclease

(4) DNA helicase \Q

In a pedigree Chartgg\ccessive generations the specific trait under consideration is
observed in every g@mération. Which of the following condition is true for the above
observation ?

(1) The trait under consideration is dominant

(2) The trait under consideration is recessive

(38)  The trait under consideration may be either dominant or recessive

(

4)  The trait under consideration is pleitropic or recessive

In the human Karyotype analysis a technique of chromosome staining G-banding is used.
What does ‘G” denotes in G-banding ?

(1) Green colour

(2) Golden colour

(3) A stain called Giemsa

(4) A stain that gives colour to guanine rich region of the chromosome
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102.

103.

104.

105.

106.

107.

Which of the following correctly represents the structure of primosome ?
(1) DNA helicase and DNA gyrase

(2) DNA primase and DNA helicase

(3) DNA primase and single strand binding protein

(4) DNA topoisomerase and DNA primase

Out of the different subunits of RNA polymerase holoenzyme which subunit has the ability
or site for binding with DNA template strand during the process of
RNA-transcription ?

(1) «- subunit

(2) B - subunit
(3) P'-subunit
(4) v - subunit

Which of the following is true for the F-factor of E.Coli bacteria ?
(1) It can remain only in autonomous state.
2) Itis responsible for making a bacterial cell into Hfgsell®

(
(3) F~ cell can never be converted into F* cell.
(4) There is no role of F-factor in the process of al conjugation.

In an inducible operon the regulation of gemeyaction is facilitated by :
(1) the attachment of regulator protej % promoter site

(2) removal of regulator protein epressor molecule from operator site after its

interaction with inducer m X e
(3) the removal of repressor m&c e from operator site as RNA polymerase binds with
promoter

(4) binding of inducer e to the RNA polymerase which in its own turn attaches
at promoter site.

Which ribosomal R are present in the larger subunit of the prokaryotic ribosome ?
(1) 5S and 23S

(2) 5S and 16S

(3) 5.85and 23S

(4) 5.8Sand 28S

Which specific nitrogenous bases are found in the T{yC-loop of the transfer RNA on which
it has been named ?

(1) Thymidine, pseudouridine and cytidine
(2) Thymidine, bromouridine and chlorouridine
(8)  Trichlorouridine, pseudouridine and cytidine
(4) Thymidine, pseudoadenine and cytidine
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108.

109.

110.

111.

112.

In a Mendelian dihybrid cross of tall pea plant with red flower was crossed with dwarf
pea plant with white flower. All the F; offspring of the said cross mentioned above were
subjected to cross with plants having recessive dwarf plant with white flower trait and
the cross yielded 620 offspring. Out of these how many are expected to be with dominant
trait for both height of the plant and colour of flower ?

(1) 155
2) 310
(3) 465
4) 620

How many linkage groups would be there in case of an organism having 64 chromosome
(diploid) with XY type of sex determination ?

1) 32
2) 33
3) 63
4) 64

In ABO blood group system of human, which of the followig@gair is incorrectly represented
for blood group and its respective genotypes ? (I is all and IB is for B blood group

and i is recessive to both 1A and IP)
SL.No. Blood Group Genotype €O
1 A I, and I*I* .)

2 AB
3 O
4

Which of the following on of biotechnology in agriculture is an example of

enhancing the nutrition food ?
(A) Bt-Brinjal Q
(B) Golden Rice Q

ma

(C) Flavr Savr to

Select the correct answer from the codes given below.
(1) (B)only

(2) (C) only

(3) (A) and (B) of the above

(4) (B) and (C) of the above

Identify the incorrectly matched pair about the cell/tissue and role or function from the
options given below.

Cell/Tissue - Role or Function
(1) Tendon - Attaching bone to bone
(2) Cartilage - As cushion between two bones
(3) Adipose tissue - Storage of fat
(4) Thrombocytes - Blood coagulation
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113.

114.

115.

116.

117.

118.

Which of the following segment is not present in the mouth parts of cockroach ?
(1) Labrum

(2) Labium
(3) Mandible
(4) Coxa

Which of the following organ present in the body cavity of cockroach has osmoregulatory
function ?

(1) Hepatic caeca

(2) Malpighian tubules
(3) Tracheal tubes

(4) Phallic gland

In earthworm nephridia are the excretory structures and these are present in all the body
segments except the following segments :

(1)  First two segments of body

(2) First five segments of body
(3)  First two and last two segments of body
(4) Last two segments of body
Which of the following structure is not present @ brain of frog ?
(1) Diencephalon ®
2)  Medulla Oblongata @

(2)
(3) Pons . @
(4) Optic lobe \

Which of the following st@ about frog anatomy is incorrect ?

(1) RBC of frog is no, d
chambers and one ventricular chamber in the heart

(2) There are two
(3) Platelets of b
(4) Dorsal aorta is fo

re nucleated
ed by union of the two systemic arches

Identify the correct sequence of event/step for enzyme linked immunosorbant assay
(ELISA) from the following options.

(I) Antigen coating in well — Addition of enzyme conjugated secondary
antibody — Addition of substrate — Addition of specific antibody

(2) Antigen coating in well — Addition of specific antibody — Addition of enzyme
conjugated secondary antibody — Addition of substrate

(38) Substrate coating in well — Addition of antigen — Addition of specific antibody —
Addition of enzyme conjugated secondary antibody

(4) Substrate coating in well — Addition of enzyme conjugated secondary antibody —
Addition of antigen — Addition of specific antibody
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119. Which of the following is not an example/product of recombinant DNA technology ?
Humulin
Bt cotton

120.

Dolly Sheep
Lepidopteran resistant Brinjal

For which of the following matter no ethical issue or concern has been raised ?

(1)

Use of human embryo for therapeutic purposes

Use of Bt Brinjal

Granting of patent about process and product traditionally used by indegenous people
Using seeds of traditionally growing crops by farmers

Q
ef"o
&

C}Q
Q
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